
μ

μ

λ = 5000.0 gf
χ



λ = 5500.0 gf
χ

eff



μ

Δv = 2

α

λ = 23094.369 gf χ
λ = 23097.094 gf χ

α

eff ∼ 3495

ξt = 1.5, 2.5, 5

∼ 70%

ξt = 5
ξt



α



λ = 23057.543
gf χ

χ
χ

χ
χ

Δ 1.476eV 5.411eV

χ
χ

∼ 2.3



Δ

∼
∼

χ



χ χ

α

∼ 130
%



χ



α

gf χ

∼



α



∼

±

±

α
α



∼



gf
−1

μ

2 μ

2

Fdiluted
λ = (1 − fdust) Fλ + fdust

Fdiluted
λ Fλ

fdust

fthin
dust = (Fstar+dust − Fstar) / (Fstar+dust) = 28%

τ << 1



μ

2



2

2



2

∫
κλ (Jλ − Bλ (T)) dλ = qrad − qthermal = 0

qrad qthermal

3Δ 3Π

α

eff

∼ 30%
%



α

3Δ 3Π

∼ 3495.2



eff


